
Order And Ranking Questions Overview
Order And Ranking Questions have a good weightage in the Banking Exam and the type of question asked in Banking

exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried

to elaborate the concept used in Order And Ranking Questions.

Order And Ranking Questions
Directions: Answer the questions based on the information given below. There are eight persons S1, S2, S3, S4, S5, S6,

S7 and S8 sitting around a circular table not necessarily in the same order. Each of the persons is facing towards the

centre. S7 sits second to the right of S3. S2 sits third to the left of S4, who is the neighbour of S7. S6 is neither the

neighbour of S2 nor S7. Neither S1 is the neighbour of S2 nor S5 is the neighbour of S3.

Question
What is the position of S8 with respect to S7?

Difficulty : Moderate Average Time : 54 Seconds

Options :
1. Second to the left

2. Third to the left

3. Immediate left

4. Third to the right

5. None of these

Solution
The correct answer is Option 2 i.e Third to the left

Let's solve the puzzle:

S7 sits second to the right of S3.

S2 sits third to the left of S4, who is the neighbour of S7. (So S4 sits to the immediate left of S7.)

S6 is neither the neighbour of S2 nor S7. (S6 sits opposite S3.)
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Neither S1 is the neighbour of S2 nor S5 is the neighbour of S3. (So, S1 sits immediate right of S7 and S5 sits immediate

left of S2.)

The remaining seat will be occupied by S8.

This is our final arrangement:

S8 is third to the left of S7.

Hence, the correct answer is Third to the left.
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